D1) 3dg(a) =aqalsa¢g H
D2) 9dm(a) =dalsace H
D3) dg(z+y) = du(z) +9m(y)
D4) Og(z.y) = Ou(z).0u(y)

(A1) z+vy =y+z

(A2) z+(y+2)=(+y +=2
(A3) z4+2 =z

(Ad) (z+y).z =z.2+Yy.2
(A5) z.(y.2) =(z.y).2
(A6) z+é==x

(A7) 6.z =9

(Cl) alb = ~(a,b) als y(a,b) gedefinieerd, anders ¢
(C2) (alb)le=al(blc)

(C3) dla =4

(CM1) =z|y =zl y+ylz+zly
(CM2) al = =a.zT

(CM3) a.z|ly =a.(z]y)
(CM4) (z+y)|lz==c| z+yl 2
(CM5) a.z|b =(a|b).z
(CM6) al|b.x =(al|b).z
(CM7) a.z|b.y =(alb).(z]ly)
(CM8) (z+y)|z =zx|z+yl=z
(CM9) z|(y+2) =z|lytz|=z
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